Organic Chemistry I (CHEM 340) Spri Dr. Hahn MWF 8 am Quiz II Exam #

Name f 01%4% I - gch-) ""r“?( rint Name

i . . . . -
Please show work owAl question 7 ven on questions which do not specify. (25 total pts)

t. For the foltowing molecule given the Lewis Dot Structure (1 pt per letter, 5 pts) '2-/ (2 / I, €

L o
X‘ 0% (a) What is the VSEPRT shape of the clectrons at * ? 'é (LB ek 2 lay G

(b) What is the VSEPRT shape of the molccule at * ? ﬁ I j—m@—&j G

H b\ O«—-——H (¢) Draw any non i oment arrows on the molg
. ;

(d) s the vector sum of the indivi

S U
(e}  What is the intermolecular force for the molecule ? [t bonding)(dipolar)(van der waals}] (circle n

2. Given the following molecular orbital diaomm for the alkene H.C= (,Ilv fill the parenthesis with a

mqtchmg letter (A} s orbital (B) p orbital (C) sp” h\ebl‘ldlltd orbltal (D) 5p hvbrldlzed orbital (E) sp

O k’ﬂ_ﬂh““{'ﬁ )

3 Given the following molecule, fill in the parcnthesis with the 1CuW group

alkene (B)alkyne {C)arcne (D)alkyl haiide (E) alcohol  (F)ether  (G) amine (H)
aldehyde  (I) ketone  (J) carboxylic acid ~ (K) ester (L) amide (M) acid halide ~ (N) acig
anhydride (You may use all the letters or none of the letters and may use the same letter multiple timeg)

{(4pts each, 8 pts total) ¢} _
O B/bi{/

4. Given the following Lewis Dg)t structure, draw one valid resonance structure. (6 pts)
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Organic Chemistry [ (CHEM 340) Spring 2016 Dr. Hahn MWF 8 am Quiz [ Exam# - -

Name Print Name
Please show work on all questions for partial credit cven on questions which do not specify. (25 total pts)

1. For the following molecule given the Lewis Dot Structure (1 pt per letter, 5 pts) 2./!2! It €

* [ 3 > .
*O) . (a) What is the VSEPRT shape of the electrons at * ?

* (b) What is the VSI:PRT shape of the molecule at * ?
| \ .“ | .
H Oe—1 (¢) Draw any non zero dipole moment arrows on the molecule

L4
|

(d) Is the vector sum of the individual dipoles [ (zcro) ot (nonzero) | (circle one)
(¢)  What is the intermolecular force for the motecule ? (11 bonding ) dipolar)(van der waals}] (circle one)

2. Given the following molecular orbital dlag,ram for the alkene H2C= CH:, fill the parenthesis with a
matching lctter. (A) s orbital (B) p orbital (C) sp 3 hybridized orbital (D) sp® hybridized orbital (E) sp
hybridized orbital (You may use the same letter multiple times) (3 pts each, 6 pis total)

o) 0“e X’
o 0R) e _~ )

3. Given the following molecule, fill in the parenthesis with the letter of the functional group. (A)
atkene (B)alkyne (C)arene (D)alkyl halide (E)alcohol (F)ether (G)amine (H)
aldehvde () ketone  (J) carboxylicacid  (K)ester (L) amide (M) acid halide ~ (N) acid
anhydride (You may use all the letters or none of the letters and may use the same letter multiple times)

(4pts each. 8 pts total)
)j O/\B/‘i—(r)/

4. Given the following Lewis Dot structure, draw one valid resonance structure. (6 pts)

ik

He N CI ,
Voot

Extra Credit: (2 pts) Name the following molecule using [IUPAC rules. [Please ask me to post the names
of the root alkanes on the projector (if I forget) because I went over it today and I do not expect you to
memorize the alkane root names immediately.}] (show work)

CH»-C Hz—(iH-€-H3

Cll:
CH;;-CI—I;—-EH——‘CHZ«CI 1,~CHa




